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HOflf =%

THEX Sy« TH - FERI - HH50 PS4 T B B G AT & B T E (A5
EHE R
= 1 134, 829, 775
JE T
= 1 53, 580
P AT
= 1 53, 580
st L (-2")
= 1 53, 580
Mgt R T
= 1 133, 849, 398
f;IZIJ_;
= 1 133, 849, 398
g R A AL B WEVEE 2m<L<b6m i LHHL 10

00m3LL k= FE{LAFRINE 110kg/m3)

m3 0 4,211 0

g R A AL BR WEVEE 2m<L<b6m i TLHH 10
00m3LL k= FEA{LAERINE 180kg/m3)

m3 6, 041 b, 344 32,283,104

P R A AL BR R Sm<L=10m fi LI 1
000m3LA I [E{LAFMRINE: 110kg/!
3

m3 0 4,696 0

P R A AL BR SRTEE Sm<L=10m fi LI 1
000m3LA I [E{LAFMRIN & 180kg/!
3

m3 6,524 5, 831 38, 041, 444

TR A AL B UREE 10m<L=13m i LHH
1000m324 F BEALAM A 110kg/
m3
m3 0 4,776 0

TR A AL B SREE 10m<L=13m i LHHE
1000m3L4 F BEALAEINE 180kg/
m3
m3 6, 140 5,910 36, 287, 400

g R A AL B W EVEE 5m<L=8m ffi LHAHL 10
00m3LL k= FEfbAFERINE 90kg/m3

m3 0 4,414 0

TR G AL B R Sm<L=8m fii LHM 10
00m32A I FE{bAHsINE 120kg/m3
(FF2k 1)
m3 3,908 5,139 20, 083, 212
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T (GEEM)
TRASK AtEKE
= 1 7, 154, 238
EmRE T
= 1 56, 500
S EUE L 1T
= 1 37, 367
av)) - M IS B L IEATHEEY) FAOE L
m3 1 7,377 7,377
) - M IS B L ERATHEEY) B L
m3 2 14, 995 29, 990
TEHRALER T
= 1 19, 133
Prau kil a7 Y — bk ()
m3 1 1,382 1,382
Prau kil a7 U — bk 85
m3 2 1,716 3,432
ALy vy -k (TR
m3 1 4, 287 4, 287
ALy vy bk (B57)
m3 2 5,016 10, 032
% T
= 1 870, 297
RImE T
= 1 870, 297
AR B
= 1 870, 297
B T HE
= 1 134, 829, 775
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
B ST
= 1 20, 071, 606
B3l
= 1 6, 880, 103
TR
= 1 1,688,172
T RR A Sy PR ST A B
= 1 1,688,172
e 2y
= 1 93, 020
b E R #z+
Ry 0 0
b E R #z+
= 1 93, 020
Htre m
= 1 3,872,071
MR
= 1 3, 557, 382
A7 b B
ik 0 6, 643 0
A7 b B
= 1 13,316
R AR R
= 1 191, 916
FE AR B ) A
= 1 109, 457
BUGERRYCEE (5 1)
= 1 1, 226, 840
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
HiE R (FE L)
= 1 13,191, 503
Wi
= 1 154, 901, 381
BTk X=giiv oy
= 1 44, 605, 015
R 5]
= 1 199, 506, 396
— e
= 1 30, 303, 604
T HAlik
= 1 229, 810, 000
TH & B 2 %8
= 1 22, 981, 000
TG
= 1 252, 791, 000
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